TWMS J. App. Eng. Math. V.7, N.1, 2017, pp. 66-73

# SOLUTIONS OF COMPLEX EQUATIONS WITH ADOMIAN DECOMPOSITION METHOD

 $M. DUZ^1, \S$ 

ABSTRACT. In this study, first order linear complex differential equations have been solved with adomian decomposition method.

Keywords: complex equation, adomian method.

AMS Subject Classification: 35F46, 39A45

### 1. Introduction

The Adomian Decomposition Method (ADM) is a method which is used in several areas of mathematics. Recently a great deal of interest has been focused on the application of Adomian's decomposition method to solve a wide variety of linear and nonlinear problems. This method has been introduced by Adomian[1] and it can be used in the linear and nonlinear differential equations, in the differential equations systems, in the integral equations, in the difference equations, in the differential-difference equations, and in the algebraic equations [2,3,4,5,6,15,16,17,18].

This method generates a solution in the form of a series whose terms are determined by a recursive relationship using the Adomian polynomials. Researchers who have used the ADM, have frequently enumerated on the many advantages that it offers. Since it was first presented in the 1980's, Adomian decomposition method has led to several modifications on the method made by various researchers in an attempt to improve the accuracy or expand the application of the original method [10,11,19]. Some of these modifications are Modified Adomian Method[12,19], Wazwaz modifications[10,13], Two step Adomian method[14], and restarted Adomian method[15,16]. Recently, the decomposition method has been used in fractional differential equations [7, 8, 9]. In this study, we solve the complex differential equations using ADM.

1.1. **Derivatives of Complex Functions** . Let  $w = w(z, \overline{z})$  be a complex function. Here z = x + iy,  $w(z, \overline{z}) = u(x, y) + i \cdot v(x, y)$ . A derivative according to z and  $\overline{z}$  of  $w(z, \overline{z})$ is defined as following

$$\frac{\partial w}{\partial z} = \frac{1}{2} \left( \frac{\partial w}{\partial x} - i \frac{\partial w}{\partial y} \right)$$
$$\frac{\partial w}{\partial \overline{z}} = \frac{1}{2} \left( \frac{\partial w}{\partial x} + i \frac{\partial w}{\partial y} \right)$$

If we write u + iv in place of w, we get that

Department of Mathematics, Faculty of Science, Karabuk University 78050, Karabuk, Turkey. e-mail: mduz@karabuk.edu.tr;

<sup>§</sup> Manuscript received: February 15, 2016; accepted: May 11, 2016. TWMS Journal of Applied and Engineering Mathematics, Vol.7, No.1; © Işık University, Department of Mathematics, 2017; all rights reserved.

$$\begin{split} \frac{\partial w}{\partial z} &= \frac{1}{2} \left[ (\frac{\partial u}{\partial x} + \frac{\partial v}{\partial y}) + i (\frac{\partial v}{\partial x} - \frac{\partial u}{\partial y}) \right] \\ \frac{\partial w}{\partial \overline{z}} &= \frac{1}{2} \left[ (\frac{\partial u}{\partial x} - \frac{\partial v}{\partial y}) + i (\frac{\partial v}{\partial x} + \frac{\partial u}{\partial y}) \right] \end{split}$$

1.2. **Adomian Decomposion Method.** In this section, we mention from ADM. We consider F(y(x)) = g(x), where F represents a general differential operator involving both the linear and nonlinear terms. The linear term is decomposed into L + R, where L is the highest order differential operator and R is the remainder of the linear operator. Thus the equation can be written

$$Ly + Ry + Ny = g(x),$$

where Ny represents the nonlinear terms. For solving Ly, we can write as follows

$$Ly = g(x) - Ry - Ny$$

Because L is invertible, an equivalent expression is as follows

$$L^{-1}Ly = L^{-1}q - L^{-1}Ry - L^{-1}Ny.$$

If L is first order,  $L^{-1}$  is a integral operator. If L is second order,  $L^{-1}$  is two fold integration operator. The nonlinear term Ny will be equated to  $\sum_{n=0}^{\infty} A_n$ , where  $A_n$  are the Adomian polynomials. Thus it can be written

$$\sum_{n=0}^{\infty} y_n = y_0 - L^{-1}R\left(\sum_{n=0}^{\infty} y_n\right) - L^{-1}\left(\sum_{n=0}^{\infty} A_n\right),\,$$

where  $y_0$  is solution Ly = g(x). Consequently we can write following equalities

$$y_1 = -L^{-1}Ry_0 - L^{-1}A_0$$

$$y_2 = -L^{-1}Ry_1 - L^{-1}A_1$$

$$y_3 = -L^{-1}Ry_2 - L^{-1}A_2$$

$$y_{n+1} = -L^{-1}Ry_n - L^{-1}A_n,$$

where  $A_n$  polynomials are determined as follows

$$Ny = f(y)$$

$$A_0 = f(y_0)$$

$$A_1 = y_1 \frac{df(y_0)}{dy_0}$$

$$A_2 = y_2 \frac{df(y_0)}{dy_0} + \frac{y_1^2}{2} \frac{d^2 f(y_0)}{d^2 y_0}$$

$$A_3 = y_3 \frac{df(y_0)}{dy_0} + y_1 \cdot y_2 \frac{d^2 f(y_0)}{d^2 y_0} + \frac{y_1^3}{3!} \frac{d^3 f(y_0)}{d^3 y_0}$$
:

## 2. Solution of Complex Equations with ADM.

**Theorem 2.1.** Let A, B, C, F be functions of  $z, \bar{z}$  and w = u + iv a complex function. We consider following problem

$$A(z,\overline{z})\frac{\partial w}{\partial z} + B(z,\overline{z})\frac{\partial w}{\partial \overline{z}} + C(z,\overline{z})w = F(z,\overline{z})$$
$$w(x,0) = f(x).$$

The solution of above mentioned problem is w = u + iv, where

$$u = u_0 + \sum_{n=0}^{\infty} u_{n+1} \text{ and } v = v_0 + \sum_{n=0}^{\infty} v_{n+1}. \text{ Therefore } u_0, v_0, u_{n+1}, v_{n+1} \text{ are as follows}$$

$$u_0 = L_y^{-1} \left( \frac{2F_1}{A_2 - B_2} \right) + u(x, 0), v_0 = L_y^{-1} \left( \frac{2F_2}{A_2 - B_2} \right) + v(x, 0)$$

$$u_{n+1} = -L_y^{-1} \left( \frac{2C_1}{A_2 - B_2} u_n \right) + L_y^{-1} \left( \frac{2C_2}{A_2 - B_2} v_n \right) + L_y^{-1} \left( \frac{A_2 + B_2}{A_2 - B_2} L_x v_n \right)$$

$$+ L_y^{-1} \left( \frac{B_1 - A_1}{A_2 - B_2} L_y v_n \right) - L_y^{-1} \left( \frac{A_1 + B_1}{A_2 - B_2} L_x v_n \right)$$

$$v_{n+1} = -L_y^{-1} \left( \frac{2C_1}{A_2 - B_2} v_n \right) - L_y^{-1} \left( \frac{2C_2}{A_2 - B_2} u_n \right) + L_y^{-1} \left( \frac{A_1 - B_1}{A_2 - B_2} L_y u_n \right)$$

$$-L_y^{-1} \left( \frac{B_1 + A_1}{A_2 - B_2} L_x v_n \right) - L_y^{-1} \left( \frac{A_2 + B_2}{A_2 - B_2} L_x u_n \right)$$

$$A_{1} = ReA\left(z,\overline{z}\right), A_{2} = ImA\left(z,\overline{z}\right), B_{1} = ReB\left(z,\overline{z}\right), B_{2} = ImB\left(z,\overline{z}\right), \\ C_{1} = ReC\left(z,\overline{z}\right), C_{2} = ImC\left(z,\overline{z}\right), F_{1} = ReF\left(z,\overline{z}\right), F_{2} = ImF\left(z,\overline{z}\right)$$

*Proof.* Let's separate to real and imaginary parts that is given an equation using the definition of complex derivatives .

$$A(z,\overline{z})\frac{\partial w}{\partial z} + B(z,\overline{z})\frac{\partial w}{\partial \overline{z}} + C(z,\overline{z})w = F(z,\overline{z})$$

So we have following equality

$$(A_{1}(x,y) + iA_{2}(x,y)) \left[ \left( \frac{\partial u}{\partial x} + \frac{\partial v}{\partial y} \right) + i \left( \frac{\partial v}{\partial x} - \frac{\partial u}{\partial y} \right) \right]$$

$$+ (B_{1}(x,y) + iB_{2}(x,y)) \left[ \left( \frac{\partial u}{\partial x} - \frac{\partial v}{\partial y} \right) + i \left( \frac{\partial v}{\partial x} + \frac{\partial u}{\partial y} \right) \right]$$

$$+ 2 (C_{1}(x,y) + iC_{2}(x,y)) (u + iv)$$

$$= 2F_{1}(x,y) + 2iF_{2}(x,y)$$

If the above equality is separated to real and imaginary parts, then we have following equalities:

$$A_{1}(x,y)\frac{\partial v}{\partial x} - A_{1}(x,y)\frac{\partial u}{\partial y} + A_{2}(x,y)\frac{\partial u}{\partial x} + A_{2}(x,y)\frac{\partial v}{\partial y} + B_{1}(x,y)\frac{\partial v}{\partial x}$$

$$+B_{1}(x,y)\frac{\partial u}{\partial y} + B_{2}(x,y)\frac{\partial u}{\partial x} - B_{2}(x,y)\frac{\partial v}{\partial y} + 2C_{1}(x,y)v + 2C_{2}(x,y)u$$

$$= 2F_{2}(x,y)$$

$$A_{1}(x,y)\frac{\partial u}{\partial x} + A_{1}(x,y)\frac{\partial v}{\partial y} + A_{2}(x,y)\frac{\partial u}{\partial y} - A_{2}(x,y)\frac{\partial v}{\partial x} + B_{1}(x,y)\frac{\partial u}{\partial x}$$
$$-B_{1}(x,y)\frac{\partial v}{\partial y} - B_{2}(x,y)\frac{\partial v}{\partial x} - B_{2}(x,y)\frac{\partial u}{\partial y} + 2C_{1}(x,y)u - 2C_{2}(x,y)v$$
$$= 2F_{1}(x,y)$$

If  $A_2 - B_2 \neq 0$ , then

$$L_y u = \frac{2F_1}{A_2 - B_2} - \frac{2C_1}{A_2 - B_2} u + \frac{2C_2}{A_2 - B_2} v + \frac{A_2 + B_2}{A_2 - B_2} L_x v + \frac{B_1 - A_1}{A_2 - B_2} L_y v - \frac{A_1 + B_1}{A_2 - B_2} L_x u$$

$$L_y v = \frac{2F_2}{A_2 - B_2} - \frac{2C_1}{A_2 - B_2} v - \frac{2C_2}{A_2 - B_2} u - \frac{A_1 + B_1}{A_2 - B_2} L_x v + \frac{A_1 - B_1}{A_2 - B_2} L_y u - \frac{A_2 + B_2}{A_2 - B_2} L_x u$$

$$u = \sum_{n=0}^{\infty} u_n, u_0 = L_y^{-1} \left( \frac{2F_1}{A_2 - B_2} \right) + u(x, 0)$$

$$v = \sum_{n=0}^{\infty} v_n, v_0 = L_y^{-1} \left( \frac{2F_2}{A_2 - B_2} \right) + v(x, 0)$$

$$u_{n+1} = -L_y^{-1} \left( \frac{2C_1}{A_2 - B_2} u_n \right) + L_y^{-1} \left( \frac{2C_2}{A_2 - B_2} v_n \right) + L_y^{-1} \left( \frac{A_2 + B_2}{A_2 - B_2} L_x v_n \right)$$

$$+ L_y^{-1} \left( \frac{B_1 - A_1}{A_2 - B_2} L_y v_n \right) - L_y^{-1} \left( \frac{A_1 + B_1}{A_2 - B_2} L_x u_n \right)$$

$$v_{n+1} = -L_y^{-1} \left( \frac{2C_1}{A_2 - B_2} v_n \right) - L_y^{-1} \left( \frac{2C_2}{A_2 - B_2} u_n \right) - L_y^{-1} \left( \frac{A_1 + B_1}{A_2 - B_2} L_x v_n \right)$$

$$+ L_y^{-1} \left( \frac{A_1 - B_1}{A_2 - B_2} L_y u_n \right) - L_y^{-1} \left( \frac{A_2 + B_2}{A_2 - B_2} L_x u_n \right)$$

If  $B_1 - A_1 \neq 0$ , then

$$L_y u = \frac{2F_2}{B_1 - A_1} - \frac{2C_1}{B_1 - A_1} v - \frac{2C_2}{B_1 - A_1} u - \frac{A_1 + B_1}{B_1 - A_1} L_x v + \frac{B_2 - A_2}{B_1 - A_1} L_y v - \frac{A_2 + B_2}{B_1 - A_1} L_x u$$

$$L_y v = \frac{2F_1}{A_1 - B_1} - \frac{2C_1}{A_1 - B_1} u + \frac{2C_2}{A_1 - B_1} v + \frac{A_2 + B_2}{A_1 - B_1} L_x v + \frac{B_2 - A_2}{A_1 - B_1} L_y u - \frac{B_1 + A_1}{A_1 - B_1} L_x u$$

$$u = \sum_{n=0}^{\infty} u_n, u_0 = L_y^{-1} \left( \frac{2F_2}{B_1 - A_1} \right) + u(x, 0)$$

$$v = \sum_{n=0}^{\infty} v_n, v_0 = L_y^{-1} \left( \frac{2F_1}{A_1 - B_1} \right) + v(x, 0)$$

$$u_{n+1} = -L_y^{-1} \left( \frac{2C_1}{B_1 - A_1} v_n \right) + L_y^{-1} \left( \frac{2C_2}{B_1 - A_1} u_n \right) - L_y^{-1} \left( \frac{A_1 + B_1}{B_1 - A_1} L_x v_n \right)$$

$$+ L_y^{-1} \left( \frac{B_2 - A_2}{B_1 - A_1} L_y v_n \right) - L_y^{-1} \left( \frac{A_2 + B_2}{B_1 - A_1} L_x u_n \right)$$

$$v_{n+1} = -L_y^{-1} \left( \frac{2C_1}{A_1 - B_1} u_n \right) + L_y^{-1} \left( \frac{2C_2}{A_1 - B_1} v_n \right) + L_y^{-1} \left( \frac{A_2 + B_2}{A_1 - B_1} L_x v_n \right)$$

$$+ L_y^{-1} \left( \frac{B_2 - A_2}{A_1 - B_1} L_y u_n \right) - L_y^{-1} \left( \frac{B_1 + A_1}{A_1 - B_1} L_x u_n \right)$$

## Example 2.1. Solve the following problem

$$4w_z + w_{\overline{z}} = 0$$

with the condition

$$w\left(x,0\right) = -\frac{1}{3x}.$$

Solution 2.1. Clearly the coefficients of equation which are as follows

$$A = 4, B = 1, C = 0, F = 0$$

$$u_0 = u(x, 0) = -\frac{1}{3x}, v_0 = v(x, 0) = 0$$

$$u_{n+1} = -L_y^{-1} \left(\frac{5}{-3}L_x v_n\right), v_{n+1} = -L_y^{-1} \left(\frac{5}{-3}L_x u_n\right)$$

$$u_1 = 0, v_1 = \frac{5y}{9x^2}, u_2 = -\frac{25y^2}{27x^3}, v_2 = 0, u_3 = 0, v_3 = -\frac{125y^3}{81x^4}$$

$$u_4 = -\frac{625y^4}{243x^5}, v_4 = 0, ..., u_{2n+1} = v_{2n} = 0, u_{2n} = (-1)^{n-1} \frac{(5y)^{2n}}{(3x)^{2n+1}}, v_{2n-1} = (-1)^n \frac{(5y)^{2n-1}}{(3x)^{2n}}$$
Therefore,

$$u = u_0 + u_1 + u_2 + u_3 + u_4 + \dots = -\frac{1}{3x} + \frac{25y^2}{27x^3} - \frac{625y^4}{243x^5} + \dots = -\frac{3x}{9x^2 + 25y^2}$$

$$v = v_0 + v_1 + v_2 + v_3 + v_4 + \dots = -\frac{5y}{9x^2} + \frac{125y^3}{81x^4} - \frac{3125y^5}{729x^6} + \dots = -\frac{5y}{9x^2 + 25y^2}$$

$$w = u + iv = \frac{-3x - 5iy}{9x^2 + 25y^2} = \frac{1}{z - 4\overline{z}}$$

## **Example 2.2.** Solve the following problem

$$z.w_z - \overline{z}.w_{\overline{z}} = 2z^2 + 5\overline{z}$$

with the condition

$$w\left(x,0\right) = 2x^2 - 5x.$$

**Solution 2.2.** The coefficients of equation are  $A=z, B=-\overline{z}, C=0, F=2z^2+5\overline{z}$ . If the coefficients separate real and imaginary parts we get that  $A_1=x, A_2=y, B_1=-x, B_2=y, C_1=C_2=0, F_1=2x^2-2y^2+5x, F_2=4xy-5y$ 

$$u_0 = L_y^{-1} \left( \frac{8xy - 10y}{-2x} \right) + 2x^2 - 5x = -2y^2 + \frac{5y^2}{2x} + 2x^2 - 5x$$

$$v_0 = L_y^{-1} \left( \frac{4x^2 - 4y^2 + 10x}{2x} \right) + v(x, 0) = 2xy - \frac{2y^3}{3x} + 5y$$

$$u_{n+1} = -L_y^{-1} \left( \frac{2y}{-2x} L_x u_n \right)$$

$$u_1 = L_y^{-1} \left( \frac{y}{x} L_x u_0 \right) = -\frac{5y^4}{8x^3} + 2y^2 - \frac{5y^2}{2x}$$

$$u_2 = L_y^{-1} \left( \frac{y}{x} L_x u_1 \right) = \frac{5y^6}{16x^5} + \frac{5y^4}{8x^3}$$

$$u_3 = L_y^{-1} \left( \frac{y}{x} L_x u_2 \right) = -\frac{25y^8}{128x^7} - \frac{5y^6}{16x^5}$$

$$\vdots$$

Similarly,

$$v_{n+1} = L_y^{-1} \left( \frac{y}{x} L_x v_n \right)$$

$$v_1 = L_y^{-1} \left( \frac{y}{x} L_x v_0 \right) = \frac{2y^3}{3x} + \frac{2y^5}{15x^3}$$

$$v_2 = L_y^{-1} \left( \frac{y}{x} L_x v_1 \right) = -\frac{2y^5}{15x^3} - \frac{2y^7}{35x^5}$$

$$v_3 = L_y^{-1} \left( \frac{y}{x} L_x v_2 \right) = \frac{2y^7}{35x^5} + \frac{2y^9}{63x^7}$$

$$\vdots$$

Therefore

$$u = \sum_{n=0}^{\infty} u_n = -2y^2 + \frac{5y^2}{2x} + 2x^2 - 5x - \frac{5y^4}{8x^3} + 2y^2 - \frac{5y^2}{2x} + \frac{5y^6}{16x^5} + \frac{5y^4}{8x^3} - \frac{25y^8}{128x^7} - \frac{5y^6}{16x^5} + \dots = 2x^2 - 5x$$

$$v = \sum_{n=0}^{\infty} v_n = 2xy - \frac{2y^3}{3x} + 5y + \frac{2y^3}{3x} + \frac{2y^5}{15x^3} - \frac{2y^5}{15x^3} - \frac{2y^7}{35x^5} + \frac{2y^7}{35x^5} + \frac{2y^9}{63x^7} - \dots = 2xy$$

$$w = u + iv = 2x^2 - 5x + i(2xy + 5y) = z^2 - 5\overline{z} + z.\overline{z}$$

#### 3. Conclusion

In this study, we have studied solutions of first order complex partial differential equations by using ADM. Our next goal is a study to find solutions of first order nonlinear complex equations and more higher order linear complex equations with ADM.

## References

- [1] Adomian,G.,(1988), A review of the decomposition method in applied mathematics, J. Math. Anal.Appl., 135, pp. 501-544.
- Babolian, E., Biazar, J. and Islam, R., (2004), Solution of the system of ordinary differential equations by Adomian decomposition method, Appl. Math. Comput., 147, pp. 713-719.
- [3] Bildik,N. and Bayramoglu,H., (2005), The solution of two dimensional nonlinear differential equation by the Adomian decomposition method, Applied Mathematics and Computation, 163, pp. 519-524
- [4] Bougoffa, L., Mennouni, A. and Rach, R.C., (2013), Solving couchy integral equations of the first kind by the adomian decomposition method, Applied Mathematics and Computation, 219, pp. 4423-4433.
- [5] Bougoffa,L., Rach,R.C. and Mennouni,A., (2011), A convenient technique for solving linear and non linear Abel integral equations by the Adomian decomposition method, Applied Mathematics and Computation, 218, pp. 1785-1793
- [6] Abdou, M.A., (2011), Solitary Solutions of Nonlinear Differential-difference Equations via Adomain Decomposition Method, International Journal of Nonlinear Science, 12(1), pp. 29-35
- [7] Momani, S. and Al-Khaled, K., (2005), Numerical solutions for systems of fractional differential equations by the decomposition method, Applied Mathematics and Computation, 162, pp. 1351-1365
- [8] Parthiban, V. and Balachandran, K., (2013), Solutions of system of Fractional Partial Differential Equations, Applications and Applied Mathematics, 8(1), pp. 289-304
- [9] Daftardar-Gejji, V. and Jafari, H., (2005), Adomian decomposition: a tool for solving a system of fractional differential equations, Journal of Mathematical Analysis and Applications 301(2) pp. 508-518
- [10] Wazwaz, A.M., El Sayed, S.M., (2001), A new modification of the Adomian decomposition method for linear and nonlinear operators, Applied Mathematics and Computation, 122, pp. 393-405
- [11] Almazmumy, M., Hendi, F.A., Bakodah, H.O. and Alzumi, H., (2012), Recent Modifications of Adomian Decomposition Method for Initial Value Problem in Ordinary Differential Equations, American Journal of Computational Mathematics, 2, pp. 228-234
- [12] Rach, R., Adomian, G. and Meyers, R.E., (1992), A Modified Decomposition, Computers & Mathematics with Applications, 23(1), pp. 17-23.
- [13] Wazwaz, A.M., (1999), A Reliable Modification of Adomian Decomposition Method, Applied Mathematics Computation, 102(1), pp. 77-86.
- [14] Luo, X.G., (2005), A Two-Step Adomian Decomposition Method, Applied Mathematics and Computation, 170(1), pp. 570-583
- [15] Babolian, E. and Javadi, S., (2003), Restarted Adomian Method or Algebraic Equations, Applied Mathematics and Computation, 146(2-3), pp. 533-541.
- [16] Babolian, E., Javadi, S. and Hosseini, S.G., (2004), Restarted Adomian Method for Integral Equations, Applied Mathematics and Computation, 153 (2), pp. 353-359.
- [17] Sinan, D. and Nejdet, B., (2014), Comparison of Adomian decomposition method and Taylor matrix method in solving different kinds of partial differential equations, International Journal of Modelling and Optimization, 4(4), pp. 292-298, .
- [18] Nejdet,B. and Sinan,D., (2015), Implementation of Taylor Collocation and Adomian Decomposition Method for Systems of Ordinary Differential Equations, 12th International Conference of Numerical Analysis and Applied Mathematics (ICNAAM 2014), 1648, AIP Publishing,
- [19] Wazwaz, A.M., (2001), The modified decomposition method applied to unsteady flow of gas through a porous medium, Applied Mathematics and Computation, 118 (2-3) pp. 123-132
- [20] Hosseini, S.G., Babolian, E. and Abbasbandy, S., (2016) A new algorithm for solving Van der Pol equation based on piecewise spectral Adomian decomposition method, International Journal of Industrial Mathematics 8(3), pp. 177-184.



Assist.Prof. Murat DUZ graduated from Department of Mathematics, Kırıkkale University, Kırıkkale, Turkey in 1998. He received his MS degree in Mathematics from Kırıkkale University in 2001 and his PhD from Uludag University in 2006, respectively. During his MS he worked as a research assistant. He is a member of Department of Mathematics in Karabuk University, Karabuk, Turkey since 2009. His research interests focus mainly on differential equations, complex functions theory, and special transforms.